BIC

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x10° 5%x10° 10%

10

10 100

1

10*

rm064 2/(375164 5207)=1.194

e T T
i BIC 508664 41 ABIC O. OOO AlogP O. OOOO ]
- x 441831.94 Ax 0.000 AlogP 0.0000 -
Lo — e — _ BIC
D 4 X2
5207
A
S A S S NS S S S RN ST S SRS S S S S S RS S S
5 10 15 20 25 30
30 iterations
rm064 2/(375164 5207)=1.194
] e T L
BIC 508664 41 ABIC O. OOO AlogP 0.0000
e % 241831.94 Ax 0.000 ‘AlogP "0.0000 3
= 5207
R R R L R R -
E., . v P S S S S RS S L R I
5 10 15 20 25 30
30 iterations
Fe2 0% 154+—1 km/s
rm064 BLR 4890 NLR 900 km/s
F——+ " 1 * * * [ ‘T ‘*t T ‘*t [ ‘"t T T T [ T T L T T T ]
- = = = = = = = = = = = = = = = = = = = = ] BLR
i r Z
____________ S letatioy U5 B R u o N YR
- ]
I___l 1 Fell
""""""" 5207
A -
S RS S S (T S ST S RS ST SR SR S S SR N
10 15 20 25 30

30 iterations

kdh1 13—-0ct-2021 11:01



